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SECTION A
MATHEMATICS

1. A sum amounts to "4=‘mﬂﬂ-ﬂfmmnnt5%mpuundinmaﬂnﬂ'm“m What
is the principal ?
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(1) 210¢, 20° ‘;/219'5“. 18

(3) 209-6°, 20° (4)  209-63018°

33. What is alternate name of a pie chart ?
(1) Pictograph
(2) Histograph

& Cifle char

(4) None of these

34. Line | is perpendicular to line m and |j
lines ! and n are

‘l)/ parallel to each other.
(2) perpendicular to eacl other.

(3) intersecting.
{4} None of the above
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100 and 33

3 99 and 33

pf a parallelogram, then
; :lc-- A = angle C

ene of these

@and 12 cm respectively. Find the







SECTION B
ENGLISH

il answer the following questions (Q. 51 - 53, by
-\.r' L

e Curie

land where she was born on November 7, 1867
of two teachers, Marie, was taught to read and
iild and did well in school. She had a sharp
arie grew older, her family came upon tough
jthat time. People were not even allowed to
Jer father lost his job because he was in
and mother to typhus and tuberculosis

iriec wanted to attend a university, but
Poland during the years covering the
Wwever, there was a famous university

d attend. Marie did not have the

jer sister Bronislawa to go to school

&#d. It fook six years, but, after

gved ;to France and entered the

e life of a poor college student,

ith. After three years she earned







at the dinner table.

(2) lately

(4) hardly

me is higher than yours.

gnderlined words from the options given)

gonfidence







SECTION C
GENERAL SCIENCE

r from rivers
ir from tubewells
Br in storage tanks

o (coating) on iron is called
(2) Electrolysis
(4) None of these

10 times




88,

: from
. ts are derived
Naphthalene balls used to repel moths and (4) LPG

tar
(1) Petroleum  (2) Sugar 7 Coal

ion i is called
The slow process of conversion of dead vegetation into coal is ca

(1) Decomposition (2) Evolution
(3)  Carbonification 44~ Carbonisation

Which amongst the following is a petroleum produet which can be used for metalling
of roads ?

(1) Coke 42 Bitumen (@) Coal tar @ Coal

A person suffering from ——— should always cover his motth and nose with »

hmdhrg:hiefwhﬂemeeﬁug.

KoY

‘»/%mmmld (2)  Cancer (3)" Asthma Nl (4) Malaris

Which of these traps air the most 2
(1) Nylon (2)  Cotton @/’W@




o

(2) Cyst formation

{(4) Both sexual and asexual reproduction

ing correctly represents the value for the normal atmospheric

(2) 76 mm of mercury

W’ 76 ¢em of mercury

(2) Amplitude
(4) Frequency

8 plane mirror. How far must he walk before he is

(3) 10m (4) 12:6m

L electroplating to piake metal objects appear

Chromium (4) Aluminium

. Choose the set that has an




(2) Francis Hayman and William Daniell

(3) ‘I!hmﬂamllanrlwﬂhmnnmeﬂ

4) Mmymmw
mmmmammmmm —

@/Wﬂ' 'ﬁf‘ Dm m} Brmnas & - g%j Pampas

W A
@% None of the G




ot categorised under the Himalayan earthquakes ?
(2) Kangra Earthquake
(4) Delhi Earthquake

felt that Hinduism was oppressive towards

(2) Raja Ram Mohan Roy
‘4)/’ Pandita Ramabai

42) Reduces global warming

None of these
| Breedom Movement made Tagore angry

lianwala Bagh Massacre

By-Minto reforms
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3 18 (4) 22

ssents a relationship similar to the one

(3) 1600 (4) 1723

‘NSFUMBOJ' and “TOWERS' is written

i4) HSKP

Brabhat is taller than

W o among them js




132. Complete the series :
3,10, 101,?

(1) 10101 (2) 10201
&3 10202 4) 11012




T is P’s father. Which of the following

B complete the given series
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